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Instructions: 1) All questions are compulsory.  2) Figures to the right indicate full marks.

Q.1

1.

Choose the correct answer from the given options.

policy is favorable to the industrial labour.
a) Owner b) Trade union

c) Political d) None of the above

Disguised unemployment is mostly seen in sector.
a) Agriculture b) Trade

¢) Industry d) Transport

Only labors are the member of trade unions in India.
a) 3% b) 25%

¢) 50% d) 100%

The trade union movement in India started in

a) 1890 b) 1912

c) 1875 d) 1904

The National Rural Employment Guarantee Act (NREGA) was enacted in

a) 2007 b) 2006
c) 2005 d) 2004

Answer any three of the following questions in 100 words.
1) Causes of unemployment in India

2) Scope of social security

3) Types of labour welfare

4) Characteristics of trade union movement

5) Problems of industrial labour

Answer any one of the following question in 250 words.
1) Explain the types of unemployment of India.
2) Discuss the achievements of trade union in India.

Answer any two of the following question in 500 words.

1) Explain the measurements of unemployment in India.

2) Define social security? Discuss the methods of providing social security.

3) Define agricultural labour? Explain in detail problems of agriculture labour.
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